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SNC2D Balancing Chemical Equations i
Part A: Balance each of the following skeleton equations.
1. 2 LIOH + ) HGOs > [ LCOs + zHO ¥

2 | KsSOs + | BaCb - 2KCl + | BaSOs
3. ZA + 2H©SO0s > 2 He + | Al(SOu)s
4 |CHNO. + =ChL > ) CCkNOz + ZHCI

5. | Mg(ClOs + 2NHBr > 2NHCIOs +  (MgBr

Part B: Write a balanced chemical equation for each of the following word equations.
Include states.

1. zinc + copper (ll)sulfate >  zincsulfate + copper (I)
Z . + i gf)u | zm 50/4 + x_(\K

bV

2. aluminum + oxygen - aluminum oxide

HAY  + 30 —2(A0)

3. magnesium bromide + ammonium nitrate > magnesium nitrate + ammomum bromide

| :_}5,1 A:f;f - -b—Z NL"' G\)“)'i) - :'/f\‘ (!\L;XZ Z\»u ‘”‘]'*

4. potassiumiodide + lead (II) nitrate > lead (ll) iodide + potassmm nltrate
21T FTRLNGD), =PI, + 2K

5. iron (III)chlorlde + Ilthlum hydroxide -> |ron (1) hydrOX|de # Ilthlum chloride
| ke, O WLk —s 'V (OH), +3)/C|
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Part C: Write a balanced chemical equation for each of the following reactions. Include states.

1. Solutions of beryllium iodide and tin (IV) nitrate react to produce solutions of

berylllum nitrate and tm (IV) iodide. = .; TR

2 Bc d, -‘Mlﬁr\ NOx )y vf—,-z-’{\ NO \_’ -#-l ?:ﬂ ..I.‘_4
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2. Water and gold are the Qroducts of the reactlon between solid gold (Il1) oxide and
hyd ) ~
ydrogen gas. A 163-1-3*‘"(_ “"“3"70 Ak.k

3. Water vapour and chlorine gas are produced when oxygen gas is added to gaseous
hydrogen chloride. YHC +/ Oy —=2H,0+ 2C),

4. Aqueous potassium chromate reacts with aqueous aluminum chloride to yleld
potassium chloride solution and solid aluminum chromate. o -

2 1,0, +ZAICl, >6KEl + Al (G4 o

.

’/5\ Solid xenon trioxide and hydrogen fluoride gas are the products of a violent reaction

between gaseous xenon hexafluoride and water.

>/° g “"Z"“‘ZO {XQO@, + b HE

6. A solution of manganese (Il) chloride and a precipitate of lead (IV) sulfide are produced
when a solut|on of manganese (II) sulfide is added to a solutlon of lead (IV) chloride.

Answers:

PartA: 1. 2,1,1,2 312,331 B 1221
25 14.1.2:.1 4. 1,393

PartB: 1. 1,1,1,1 3 1,2,1,2 5. 1,8 1,3
2. 4.3 2 4. 2,1,.1,2

PartC: 1. 2,1,2,1 3. 1,422 5::3,-1,6
2. 1.3, 3:2 4. 3,2,6,1 629,29




